< & ¢@>(rad)

F N F
3 e
e K R B £ R R R R R R oY A R R EEEEEEEEEREEE (hRl] IR EECEEEEFEEREREE
o o o
C o C
:_ ............................................ v 0.1:_ ..............................................
R I B PR TR 0.0Bf e esiererndeenens - R R
:— ---------------------------------------- 0:— ------------------------------------------
e R ] L e LL- RELRER V0] R EELEERELERREELE RN EERR RECLILL-RLLEEES
R A8 IR B | AR S L AL L B e SRS Al REL: RLLEL AL
ESRRRRER L SE L SRR B | LR SLEEREFAEEEED L e R SRRERE FAL EELEY! EECIEEE SIS
-||||| .9_0.2;....!....!....!....!....!....
e v R B R g ¥
E : @ 0.9F =~ tE - IR EEH R TR TR k-
3 TR T oef- Il LA
3 07

-2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt
—— DQM_fitted4_1000evt

[y
D 0 O
||||||||||||||||||||||||||||?|||o||||

< 0d, > (um)
N
(@)

[y
® O
(@]

I

A

o
(=]
I
+

N
T

< 8d,> (um)

[T DR P 20F----Hf- AU -HEEF-Fb - HE gL - -

g o ~80f--+- HAHE A
5....!....!....l....!....!.... 9_105....|....!‘....!....|...|....
- .u;.-n UV VY 1 0 3 = 15_' T 1 A iR

E || . SR S R e
_ TETTTEEE TR 0.82— -t -
C ; : : ; . 0.7t ; : : ; L

3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

< op/p > (%)

Ratio

E B T O A |
- flE 11 R PR R o OB {5 | R
Eo 11| R |

1:—- nign i
2 10 12 3

TP n (PCA to beamline)



	Contents
	Page 1


